Au“ie P“mpf AUSSIE SPARES DIAGRAM & PARTS LIST

AUSSIE GMP PUMPS: B4XR-A/ST, 11kW & 15kW ELECTRIC MOTORS
Cat: EADL, EANM

REJUVENATION KIT ... SAVE ON BUYING INDIVIDUAL PARTS
GREJK-B4XR-AST  Includes check valve, mech seal,

11-15KW counterface, filling cap & trash port $342
(R665) gaskets (items highlighted yellow)
Part Part
Position  Number  Qty Description List price Position Number  Qty Description List price
0O1la 5581 1 PUMP CASING BAXR-A $3,396 05 6880 , EXTENSION SHAFT FOR MEC 160 - stain- $1.560
01b 8926 1 VALVE BODY BAXR-A/ST $605 less steel
01c 5931 1 FLANGE B4XR-A G 1083 $412 06 F976 1 MECH.SEAL 32-54-15 silicon carbide $364
01d 8932 1 INSPECTION DOOR $164 o7 6355 ,  COUNTERFACE 33-57-10 ALUMINA/ -
0le 6015 1 COMPLETE CHECK VALVE $132 NBR
01f 8938 1  GASKET INSPECT. DOOR $24 08 6035 1 FLEX. GASKET B 1056 (#232-0.8mm) $20
01h 6184 1  FLEX. WASHER 41x50x2 $8 09 6169 6 COPPER WASHER 10X 16 X 1.5 $5
Olg 6031 1 FLEX. GASKET G 1089 $14 10 6242 6 T.E.SCREW M 10x90 UNI 5737 $5
01i 6214 1 CONICALTAP 11/4" GA $14 11 7941 8 VITET.E. M 10x25 ZI UNI 5739 $5
01l 6209 1 CONICALTAP 1/4" GAS S7 12 6178 1 WASHER D.12x28x4 $6
01m 6266 4 SCREW M12X40 UNI 5931 $5 LOCK NUT M12 INOX UNI 7474 (AIS|
0ln 1372 5 OEBSCREW M10x35 UNI 5931 $6 13 Fa76 1 316 315
0lp 9468 2 GRUB SCREW M10 X 60 UNI 5923 $12 14 6717 4 SCREW T.E. M16x60 UNI 5737 S5
0lq 8975 2 COMPLETEPIN $58 15 6325 1 KEY B 6x6x20 UNI 6604 $6
o1r  H796 3 zgggw M5X10 INOX A4 (aisi 316) UNI s5 16 P677 2 SCREW TCEI M10x30 $3
17 8552 4  WASHER D. 17x30x2,5 GALVANISED $2
01s H913 1 ZYFE’EE IZITSC BAXR-A/ST STAINLESS $190 18 8551 4  GALVANIZED NUT M16 $5
3-BLADES IMPELLER B4XR-A/ST 19 4 WASHER
02 Faed 1 oW $1,099 20 H292 4 SCREW M12x40 UNI5739 $5
o 7 | 3-BLADES IMPELLER BAXR-A/ST 61,099 21 1344 1 BASE FOR MOTOR MEC 160-180 tha
11kW MEC 16 ’ = H996 ; MOTOR 15 kW IE3 T. 400/690 V. 160-2P tha
BRACKET SERIES ZPM-A MEC 160- -B3/B5
03 H601 1 tba
180 - 317 ; MOTOR 11 kW IE3 T. 400/690 V. 160-2P tha
04 F497 1 FLANGE MEC 160/180 SERIES ZPM tba -B3/B5

Australian Pump Industries Pty Ltd | 7 Gladstone Road, Castle Hill NSW 2154 | P: 02 8865 3500 | F: 029894 4240 | www.aussiepumps.com.au

All prices ex GST GMP/JUN2022/1





